Use the long division method to devide the following
a. 12 =+ = b Ols 5 | = cl 4 = =
d + = e 15+ 8 [= f Ql=10|=
9. 18 +6 = hi 12 = 4 |= i + 4 =
.21 = = ki pal+la | = L 12 =2 =
m 18 |+ = n + 7 = o) 5[5 =
P Ol+1l6 = q 6 1+ 4 |= r 2= 14 | =
s + 3 = Bl A5+ 5 | = u 5[+ 7 |=
V. 712 1§ | = w. 40/ +|5 | = Xi A49|+17 | =

© http://mathskills4kids.com




Use the long division method to devide the following
12 + 3 = b O +5 = c. 14 =7 |=
4 4 2
3 12 5 20 7 14
12 1 20 114
0O W
So,12 + 3 = 4 (s020+5 =4 (s014+7 =2
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S8+ 3 =2 (So,15+3 = K @)
(50,20 + 10 =2
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50,18 + 6 = 3 (so12+4 =3 (So8+4 =2
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